
BME 301

8‐Filters



Homework

1. If the circuit in problem 1 was too challenging, try 
this circuit, first.  Find the transfer function of this 
circuit as function of ω. 
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Homework

1. If the circuit in problem 1 was too challenging, try 
this circuit.  Find the transfer function of this circuit 
as function of ω. 

50

RS 500

CD 50n

a

b

Vin CIN 50 n

Vab
Vin



1
jCIN

1
jCIN

 RS 
1
jCD


jCD

jCD  jCIN jCDRS  jCIN


jCD
 2CINCDRS  j (CIN CD )


CD


2

( 2CINCDRS )2  ( (CIN CD ))2 tan1(
 (CIN CD )
 2CINCDRS


CD

( 2CINCDRS )2  ( (CIN CD ))2
[

2
 tan1(

 (CIN CD )
 2CINCDRS

]



Homework (Extra Credit if done)
1. If the circuit in problem 1 was too challenging, try this circuit.  Find the 

transfer function of this circuit as function of ω. 
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Homework (Extra Credit if done)
1. If the circuit in problem 1 was too challenging, try 

this circuit.  Find the transfer function of this circuit 
as function of ω. 
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Homework
2. HONORS STUDENTS ADD THE FOLLOWING
An electrode is connected to an oscilloscope which has a purely capacitance 
input impedance, CIN. Find the transfer function of this circuit as function of 
ω.
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Homework
2. An electrode is connected to an oscilloscope which has a purely 

capacitance input impedance, CIN. Find the transfer function of this 
circuit as function of ω.
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Vab
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
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Homework
2. An electrode is connected to an oscilloscope which has a purely capacitance input 

impedance, CIN. Find the transfer function of this circuit as function of ω.
RS500RD39.5k

CD 50n

a

b

Vin CIN 50n

Vab
Vin


1 jRDCD

1 2RDCINRSCD  j[CIN (RS  RD )  RDCD ]


1 (RDCD )2 tan1(RDCD )

(1 2RDCINRSCD )2  ([CIN (RS  RD )  RDCD ])2 tan1(
[CIN (RS  RD )  RDCD ]

1 2RDCIN RSCD )
)


1 (RDCD )2

(1 2RDCIN RSCD )2  ([CIN (RS  RD )  RDCD ])2
[tan1(RDCD )  tan1(

[CIN (RS  RD )  RDCD ]
1 2RDCINRSCD )

)]

Vab
Vin

|0
1
1
10

Vab
Vin

|
jRDCD

 2RDCIN RSCD


j
CINRS

 0

2

 
1

RDCINRSCD
1.69104

Vab
Vin

|


1
RDCINRSCD



1 j 1
RDCIN RSCD

RDCD

j 1
RDCINRSCD

[CIN (RS  RD )  RDCD ]


1 ( 1
RDCIN RSCD

RDCD )2

1
RDCINRSCD

[CIN (RS  RD )  RDCD ]
[tan1( 1

RDCIN RSCD
RDCD )  

2
]

 2.21021.18



Homework
2. An electrode is connected to an oscilloscope which has a purely capacitance input 

impedance, CIN. Find the transfer function of this circuit as function of ω.
RS 500RD 39.5k

CD 50n

a

b

Vin CIN 50n

0.00E+00

2.00E‐01

4.00E‐01

6.00E‐01

8.00E‐01

1.00E+00

1.20E+00

1.E‐03 1.E‐01 1.E+01 1.E+03 1.E+05 1.E+07

Mag

‐1.80E+00

‐1.60E+00

‐1.40E+00

‐1.20E+00

‐1.00E+00

‐8.00E‐01

‐6.00E‐01

‐4.00E‐01

‐2.00E‐01

0.00E+00
1.E‐02 1.E+00 1.E+02 1.E+04 1.E+06 1.E+08 1.E+10

Phase


